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AHAJIUTHYECKHE PEKOMEHIAIUHA:

Pa3pa0doTka naeHTHPUKATOPOB MHBAJIHUIHOCTH C UCIIOJIb30BAHUEM

CHHTaKcuca Stata PacuimpeHHoro onpocHuka BammHrronckon
rpyninbl N0 GyHKIHOHAJIBbHBIM cniocoOHocTsaM (BI'-PO)

BBenenue

Kak u B ciyuae ¢ Kpatkum onpocaukom BI™ o
¢byHKuHOHATBHBIM criocobHoCTAM (BI'-KO), ananu3 oTBeToB
pacmmpenroro Habopa BornpocoB BI' o GpyHKImoHaIIBHBIM
cnocobHocTsM (BI'-PO) Takxke mo3BOISET MOTYIUTh HECKOJIBKO
UICHTU(PUKATOPOB MHBAIMTHOCTH ITyTeM BbIOOpa mopora
TSDKECTH MK oTceueHust. OqHaKko CHHTaKcuc Stata,
MIpeJICTaBJICHHBIN HIDKE, MPeIyCMaTpUBAeT BEIUHUCICHUE
UICHTU(PUKATOPOB UHBAIMTHOCTHU C UCIIOJIH30BAHUEM
pa3ianuHbIX HabopoB JoMeHoB BI'-PO u pexomenryemoro
rmopora Jijisi MeXIyHapOHBIX CpaBHEHUH (OMMHMCAHO HUKE).

I[J'ISI KaXX10T'0 U3 OITMCAaHHBIX I/IILGHTI/I(i)I/IKaTOPOB HUHBAJIMJHOCTHU
YPOBEHb BKJIFOUEHUSI — 3TO HaJMYME, IO KpaHEeW Mepe, OJTHOTO
nomena/Bonpoca ¢ orBetoM NCIIBITBIBAIO BOJIBIINE
SATPYJAHEHUA wniu HE MOT'Y OTO JEJIATD — nnu —
U1t fIoMeHoB TpeBokHOCTH, [lenpeccust, bonb u Ycranocts,
caMblil BBICOKUN YpOBEHb 3aTPYAHEHUN MO YEThIPeX 0aJIIbHOM
IKare.

Kaxp1ii u3 4eThIpex uACHTH(PUKATOPOB HHBAJIUIHOCTH,
OIMCAHHBIX B 3TOM JJOKYMEHTE, OIpeAesIeTCs MyTeM BBIOOpa
JOMEHOB (PYHKIIMOHUPOBAHMSI, BKIIFOYAs:

BI'-KO: Kpamxuii onpocnuk: 6 ToMeHOB, 6 BOIIPOCOB.

BI'-PO 1: Pacuupennwiii nabop: 11 1omeHOB, 25 BOIIPOCOB.

BI'-PO 2: Mooughuyuposannvwiii pacuiupennsiii Habop (BI'-
PO MUHYC Bboinb u Ycranocts): 9 momeHnos, 20 BOIIPOCOB.

BI'-PO 3: Vcosepuencmesosannuiii kopomkuu nabop (BI'-
KO IUTIOC BepxHusst yactb tenna, TpeBOKHOCTb U

Crp. |1

HcnoaHurteabHbIE JOKVYMEHTDI

BauniMHITOHCKOW IDVIINBI
OXBaTBIBAIOT UHCTPYMEHTHI,

pa3paboranHbie BammHTrTOHCKOM
IPYMIION O CTaTHCTUKE
nnaBanuanoctu (BI) mns cOopa
JaHHBIX 00 WHBAJUAHOCTH,
COTIOCTaBUMBIX Ha
MEXIyHApOIHOM YPOBHE, IPH
MPOBEJICHUM TIEPENUCcen U
oOciienoBanuii. B atux
JOKYMEHTaX paccMaTpHUBAOTCS
JyqIIHe MPAKTUKH 110
npumeHeHnto Kpatkoro
onpocHuka, Pacmupennoro
onpocHuKa, KpaTkoro onpocHuka
— YCOBEPUIEHCTBOBAHHOW BEPCUH,
Jerckux QyHKIHOHAIBHBIX
moxayneit BI/FOHUCE®D mns
BO3pacToB 2—4 u 5—17 ner, a Takxe
moayns BI/MO-PCU MOT no
WHBIMAHOCTH U APYTHX
uHcTpyMmeHToB BI'. Tematuka
BKJIIOUAET MPOOJIeMBI IIEpeBo/ia,
orpeziefieHHe BOIIPOCOB,
AHAMTUYECKHE PEKOMEHIalnH,
IIPOrpaMMHBIN KOJ [UIsl aHAJIN3a,
UCTIOJIb30BaHNE MHCTPYMEHTOB IS
BBIJICJICHHSI TOATPYIIT U MHOTOE
Ipyroe.

Hpyrue uComTHUTEIbHBIC
nokymeHTs BI™ 1 Gonee
nojpoOHast nHPOpMAIUs
HaXOoIATCs Ha calTe
BammHrroHckoil rpymnisl:
http://www.washingtongroup-

disability.com/.
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Jenpeccus): 9 nomeHoB, 12 BOmpocos.

NPUMEYAHUE: g ananu3a JaHHBIX UCHOJIb3yHTE Bamm cTaHIapTHBIE METO/IbI B3BEILIMBAHUS
M OIICHKH.

CunTakcuc Stata OCHOBaH Ha MemKax nepemeHHbiX, yKa3aHHBIX B Tabnmuie Huxe. [1omHbIi MoTyTh
BI'-PO conepsxut 6oJiblie BONPOCOB, YeM yKa3aHOo B 3Toi Tabnwuie. CTaTyc MHBAIHIHOCTH
oIpeJieNisieTCs TPYAHOCTSMU B BBIITOJIHEHUH OCHOBHBIX YHUBEPCAJIbHBIX JCHCTBUH Oe3
MCTOJIb30BAHNUS BCIOMOTATEIbHBIX MpUCHIOCcOOIeHUH 1iu pyroi momotu. Hanpumep, ects
HECKOJIBKO BOIIPOCOB, CBSI3aHHBIX C MOOUIIBHOCTBIO, KOTOPBIE OMPEENIIOT TPYIHOCTH IPH X01b0€
€ MCTIOJIb30BaHUEM MIOMOILN. DTU BONPOCH! HE BKIFOYEHBI B IIPECTABIECHHBIN 3/1€Ch
aQHAJIMTUYECKU IJ1aH, OJJHAKO OHU MOTYT OBbITh MCIIOJIb30BaHbl B APYTUX aHAIN3aX, I1e Ooiee
OAPOOHO M3YYaroT BIMSIHUE HAa GYHKIIMOHUPOBAHKUE BCIIOMOTaTeIbHBIX MPUCIOCOOIEHUN
(6e30apbepHOil OKpYIKAIOIIEH cpebl).

IIpu onpenenenny HAEHTU(HUKATOPOB UHBAINHOCTH UCIIOIb3YIOTCS TOIBKO Te€
BONPOCHI/TIEpEMEHHbBIE, KOTOPbIE IPUBEACHBI HIDKE. Y 0eanTech, YTO BbI HcnoJIb3yeTe Te ke
memxu nepemennvix I n3menure cuHTaKcuc Stata, yTo0bl 0TPaKaTh MeMKU
nepemennsix B Baueii 6aze 1aHHbIX.

BI'-KO sBnsercs yactbto HanmonansHOro ankeTrpoBanus 1o Borpocam 310poBbs (NHIS) CILIA.
JlaHHbI€, UCTIOIB30BAHHBIC JUISI IOJTOTOBKH 3THX peKoMeHaanuii, B3aTel 13 NHIS 3a 2013 rog.

Ilpumeuanue ona nonvzosamenei NHIS: umena nepemennvix 6 ¢haiiie OauHuIX U OOKyMEHMAyuu
NHIS mozym omauuamocs om mex, 4mo UCnoIb3yiomcs 6 3mom OOKYMeHme; Hanpumep, nepemMeHHasl
oomena camooocayxcueanus, ynomurnaemas kaxk SC-SS 6 smom Ooxymenme, 6 @aiiie OaAHHBLIX U
ookymenmayuu NHIS nazvieaemcs UB_SS.

Metka BapuaHThbI

Bonpockl/10MeHbI paciiMpenHoro onpocanka BI' .
P P P P nepemMeHHoii | 0TBETOB

3PEHUE

1. UcnbiThIBaeTe Jin Bbl TpyIHOCTH €O 3peHueM Ja:Kke NPU HOLIEHUH VIS_SS 1
04KOB?

OBLIEHUE

2. UcnbiThiBaeTe Jin Bbl 3aTpyAHEeHHUsI IPH YCTHOM O0LIIEHUH
(HanpuMep, YTOObI MOHMMATH WJIN OBITH OHATHIM)? COM_SS 1

CJIyX

3. UcnbiThIBaeTe 1M BBl TPYAHOCTH €O CIYXOM Ja:Ke NPH HEAR_SS 1
HCNOJb30BAHUM CJIYXOBOI0 annapara?

4. Tpyano jqu Bam ciabpliaTb pa3roBop ¢ O{HUM 4YeJI0BEKOM B

. > HEAR_3 1
THXO0# KOMHaTe? -
5. TpyaHo i1 Bam ciblaTh pa3roBop ¢ OJHUM Y€JI0BEKOM B HEAR 4 1
IIYMHOW KoOMHAaTe? -
MNO3HAHHUE
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6. UcnbiThiBaeTe i Bbl 3aTpyAHeHUs NPH 3alIOMUHAHUU WU
KOHIIEHTPAIlMi BHUMaHNs ?

COG._SS

7. UcnbiThiBaeTe jiu Bbl 3aTpyAHeHHs NPU 3alIOMMHAHUY WU COG_1

KOHIIEeHTPAaIMK, HJIH B 000X caydyasix?

8. Kak yacro Bbl ucnbIThbIBaeTe 3aTpyiHeHUs IPH 3aIOMMHAHUN ? COG_2

9. Kakoe kosimuecTBo npeameroB Bam TpyiHo 3anioMHUTH? COG_3

CAMOOBCJIIY’KUBAHUE/BEPXHAA YACTD TEJIA

10. UcnbiThiBaeTe iU Bbl 3aTpyaHeHus (¢ caMmo00c/1y:;KUBaHUEM, SC SS
HanpuMep) ¢ YMbIBAHHEM HJIH OJleBAHUEM ? -

11. UcnbiThIBaeTe iU Bbl 3aTpyAHEeHNs, YTOObI NOAHATH 2-JIUTPOBYIO UB_1

OYTBLIKY BO/bI OT TAJIUM /10 YPOBHS rJa3?

12. Hackoqbko Bam TpyIHO HCIOJIB30BaTh PYKH H AJBIBI? UB 2

MHOABUXKXHOCTD

13. UcnbiThiBaeTe iU Bbl 3aTpyaHenusi npu xoan0e uian nogunmasico| MOB_SS

10 CTyNeHbKam?

14. Tpyauno 11 Bam npoiitu 100 sspaos (91 M) no poBHoi MOB 4
MOBEPXHOCTH 0€3 MOCTOPOHHEN MOMOIIU WJn 0e3 -
BCIIOMOTaTeJIbHOT0 000PYA0BAHUSA?

15. Tpyauno 1u Bam npoiitu 1/3 muiu (536 M) nmo poBHoOM MOB 5
MOBEPXHOCTH (€3 MOCTOPOHHEN MOMOIIU W 0e3 -
BCIIOMOraTeJbHOro 000py/10BaHus?

16. UcnibiThIBaeTE Ji Bbl 3aTpyAHEHHUS, YTOObI NOAHATHCS

MOB_6
WM CIYCTUTHCA HA 12 cTyneHek? -

IMOIIMOHAJIBHOE COCTOAHHUE (TPEBOKHOCTD)

17. Kak yacTo Bbl uyBcTBYeTE ce0sl B3BOJITHOBAHHBIM, HEPBHBIM HJIH ANX_1

BCTPEBOKEHHbIM ?

18. Hackoubko cniibHO Bbl uyBcTBYeTe ce0st B3BOJTHOBAHHBIM, ANX_3

HEPBHBIM WJIM BCTPEBOKEHHBIM?

IMOIMOHAJIBHOE COCTOSAHHUE (AEITPECCHUSA)

19. Kak yacTo Bbl uyBCcTBYyeTE ce0sl B Aenpeccuun? DEP_1

20. Hacko1bK0 CHJIBHO Bbl 4yBCTBOBAJIM ce0s1 B AeNPeECcCUH

nocJjeaHui paz? DEP_3

BOJIb

21. Kak gacto BeI uyBcTBOBanu 6016 3a mocieaHue 3 mMecsa? PAIN_2

22. Hackonpko criIbHOH OblTa 00716 B MTOCTIEIHUH pa3, Koraa Ber ee PAIN_4

WCIIBITHIBAIN?

YCTAJIOCTbD

23. Kaxk wacro 3a mocienaue 3 mecsia Ber omrymranu cribHyIo yeranocets|  TIRED_1

WA UCTOLIEHUE?

24. Kak 10ar0 JUIUI0CH OILYIIEHHE YCTAaT0CTH WK UCTOIIECHUS B TIRED_2

Crp. |3
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nocyienHu paz?

25. HackosbKO CHIIBHBIM OBLIO OLIYHICHHE YCTAJOCTH MM UCTOLCHHS B
MOCJIeTHUN pa3?

TIRED 3 6

INPUMEYAHUE: KpacubimM oTMedeHbI BonIpockl KpaTkoro onpocHuka BammHrToHCcKoM
rpynnsl (BI'-KO).

Bce 25 Bonpocos Bkimtouenst B BI'-PO 1.
Bomnpocsl, BbIIEIEHHBIE KPACHBIM TUTIOC CHHUM IUTIOC 3eJIeHbIM [IBETOM, BKItoueHbl B BI'-PO 2.
Bomnpocsl, BbIZIeNIEHHBIE KPACHBIM IUIIOC 3e/IeHbIM IIBETOM, BKItoYeHbl B BI'-PO 3.

BapI/IaHTbI OTBETOB.

Oobpa3zen 1 Oopa3en 2 Oobpasen 3 Oopazen 4
1 | He ucneiTbiBato 3aTpyAHEHUS TOJIbKO MPHU WNuorna Hemnoro
3aTpyAHEHU I 3allOMHUHAHUU PEJIMETOB
2 | la, MCTIBITHIBAIO 3aTpyIHEHUS TOJIBKO MPHU Yacto Mmuoro
OnpeJIeIICHHbIE KOHLIEHTpalUU
3aTpyAHCHUS
3 | [la, UCTIBITHIBAIO 3aTpy/IHEHUS U C [TocTosiHHO [TouTn BCe
CEpbE3HbIE 3aTPYIHEHUS 3allOMMHAHUEM, U C
KOHIICHTpaluein
4 | He Mory 3T0 nenaTh
7 | OTKa3bpIBatOCh OTBEYATH
8 | He ycranoBieno
9 | He 3naro
Oopazen 5 Oobpa3sen 6% Oopa3zen 7 Oobpazen 8
1 | Exennesno Hemnoro Huxkorna YacTb q1HA
2 | OmuH pa3 B HEJICITIO Mmuoro B Hekotopeie bosbiiyro yacts
JHU JIHS
3 | OnuH pa3 B Mecs1l Yro-To cpeaHee MEXay BonpmuucTBO | Bech nenb
«HemHoro» u « MHoro» JHEN
4 | HeckonbKo pa3 B o1l Kaxnprit neHn
5 | Hukorma
7 | OTKa3bIBalOCh OTBEYATH
8 | He ycranoBieno
9 | He 3Haro

* OBPATUTE BHUMAHMUE, UYTO B IPEJCTABJIEHHOM HUKE CUHTAKCHUCE B
ITYHKTAX C OBPA3IIOM OTBETOB 6 (ANX_3, DEP_3, PAIN_4 U TIRED_3)
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XAPAKTEPUCTHKHU OT «<HEMHOI'O» 10 «MHOI'O».

BI'-KO sBasgetcs gacteio BI'-PO. B BI'-PO no6aBieHsI:

. JOTIOJTHUTEIBHBIE BOIIPOCHI K 6 YK€ CYIIECTBYIOIINM JOMEHaM U

. JOTIOJTHUTEIBHBIE TOMEHBI (HEKOTOPBIE C HECKOJIBKUMH BOIIPOCAMHU ).

Cunrakcuc Stata, mpeCTaBICHHBIA HUKE, BKIIFOYAET B c€0s HECKOJIBKO PJIEMEHTOB, XapaKTEPHBIX
Tonbpko Mg BI'-PO.

Bo-niepBrIX, Ba)KHO OBIJIO ONIPENENUTh OTACIbHBIE TOMEHHBIE HICHTH(PHUKATOPHI ISl TEX TOMEHOB
(GyHKIIMOHUPOBAHMSI, KOTOPBIE BKJIIOUAIH HECKOJIBKO BoNpocoB. Hanpumep, pyHKIMOHUpOBaHUE
BEpXHEH yacTu Teja BKIIOYAeT B ce0s 1Ba BONPOCa, KaXKAbIM U3 KOTOPBIX MOApa3yMeBaeT
KOHKPETHBIC M YHUKAJIbHBIC IEHCTBUS: 3aTPYJHEHUS B TIOJJHUMAaHUM OyTHUTKU C BOAOH OT TalIHUU 10
YPOBHS TJ1a3 (PYKH/TIICYH ) U 3aTPYIHEHUS B UCTIOJIB30BAHUU PYK U TAIBIIEB. ITH JIBA BOIIPOCca ObLIH
MIPOAHAIM3UPOBAHBI M 0OBEANHEHBI IS ITOJTyUeHHsI OTASIBHOTO HHANKATOpA 110 BEpXHEH YacTH Tena
C YETBHIPbMS YPOBHSIMM 3aTPyAHEHUN, HAUNHasA OT | — HU3KUI ypOBEHb 3aTPyAHEHUN 10 4 —
BBICOKMH YPOBEHB 3aTPYAHEHUN. DTO MAJIO YEM OTJIMYAETCS OT KATETOPUMHBIX OTBETOB Ha OT/IEIbHbBIC
Borpocsl BI'-KO: «He ucnbiThiBato 3aTpyqHeHun», « ICIBITHIBAIO ONPEAEICHHBIE 3aTPyAHEHUSY,
«McnpiThIBato 0ombiMe 3aTpynHeHus» U «He mory ato nenate». Kak u g nomena Bepxueii yactu
tena, y nomeHoB BI'-PO Koruutuszble pynkuun, TpeBoxxHocTs, [lenpeccust, bonpb n Ycranocts
00pasIlbl OTBETOB UMEIOT PAa3HBIN XapaKTep U HEJIETKO «IIePEeBOJISATCS» B OOBIYHBIN 00pasell oTBeTa
BI'. nist 5TUX 1OMeHOB (pyHKIIMOHUpPOBaHUA ObuIa pa3paboTaHa U aHHOTHPOBAHA aHAJIOTHYHAS
YETBIPEXYPOBHEBASI CXe€Ma OTBETA CO mKaoil 14, rae 1 — camblil HU3KUM YPOBEHB 3aTpyIHEHUM, a 4
— CaMblil BBICOKHUH.

Bo-BTOpBIX, OBUTH OLIEHEHBI TTOKA3aTEHU IO OTACIBHBIM JOMEHAM JUIsI OTIPEACTICHUS
COOTBETCTBYIOIINX OIPaHUYCHUN SISl BKIIFOUCHUSI B 00NN UIEHTU(DUKATOP WHBAJIMIHOCTH — B
LEJISAX OLEHKHU PACIIPOCTPAHEHHOCTHU U JICJIEHHs Ha MOArPYIIIbI MoKa3aTeseil craryca
WHBAJIMAHOCTH.

NPUMEYAHHUE:

Jlnis Bcex mepeMeHHbIX Kojbl (7) Omxnoneno, (8) He ycmanosneno v (9) He 3naio nepekoaupyroTcs B
Omcymcmeyem.

Stata WG Extended Set Syntax Annotated with Output Tables

Actual Stata syntax is indented and are in Bold text.

NOTE: For data analysis, use your standard weighting and estimation techniques.

The syntax below produces frequency distributions on individual domain questions — cross-
tabulations on multiple domain questions, and calculates INDICATOR variables for domains with
multiple questions — for use in the determination of disability identifiers.

VISION

Qmp 1_Generate frpnlnpnr‘y distribution for Vision domain

Crp. |5 Jiis mony4eHus AONOTHUTENBHOM nH(popManuu o BalmmmHI TOHCKO# Tpyrine
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VIS_SS is the WG-SS Vision question.
gen Vision=VIS_SS if inlist(VIS_SS, 1,2,3,4)

replace Vision=. if inlist(VIS_SS, 7,8,9)
tabulate Vision

Vision: Degree of difficulty seeing

Valid Cumulative
Frequency Percent Percent Percent

Valid |No difficulty 13690 79.0 81.6 81.6
Some difficulty 2708 15.6 16.2 97.8
A lot of difficulty 333 1.9 2.0 99.8
Cannot do at all 36 2 2 100.0
Total 16767 96.8 100.0

Missing 559 3.2

Total 17326 100.0

COMMUNICATION
Step 2. Generate frequency distribution for Communication domain.
COM_SS is the WG-SS Communication question.

gen Communication=COM_SS if inlist(COM_SS, 1,2,3,4)

replace Communication =. if inlist(COM_SS, 7,8,9)
tabulate Communication

Communication: Degree of difficulty communicating using usual language

Valid Cumulative
Frequency Percent Percent Percent

Valid No difficulty 15874 91.6 94.7 94.7
Some difficulty 745 4.3 4.4 99.2
A lot of difficulty 94 5 .6 99.7
Cannot do at all 43 2 3 100.0
Total 16756 96.7 100.0

Missing 570 3.3

Total 17326 100.0
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HEARING

Step 3. Generate frequency distributions and cross-tabulations for Hearing domain questions and
determine Hearing Indicator

HEAR_SS is the WG-SS Hearing question.

gen Hearing=HEAR_SS if inlist(HEAR_SS, 1,2,3,4)
replace Hearing=. if inlist(HEAR_SS, 7,8,9)

HEAR_3 is Difficulty hearing conversation with one person in quiet room.

gen HEAR_3_R=HEAR_3 if inlist(HEAR_3, 1,2,3,4)
replace HEAR_3 R =. if inlistf(HEAR_3, 7,8,9)

HEAR_4 is Difficulty hearing one person in noisier room.
gen HEAR_4 R=HEAR_4 if inlist(HEAR_4, 1,2,3,4)

replace HEAR_4 R=. if inlist(HEAR_4, 7,8,9)
tabulate Hearing

Hearing: Degree of difficulty hearing

Frequency Valid Cumulative
Percent Percent Percent

Valid  No difficulty 13680 79.0 81.6 81.6
Some difficulty 2753 15.9 16.4 98.0
A lot of difficulty 310 1.8 1.8 99.9
Cannot do at all 23 1 1 100.0
Total 16766 96.8 100.0

Missing 560 3.2

Total 17326 100.0

tabulate HEAR_3_R

HEAR_3_R: Difficulty hearing conversation with one person in quiet room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 15249 88.0 91.0 91.0
Some difficulty 1316 7.6 7.9 98.9
A lot of difficulty 162 9 1.0 99.9
Cannot do at all 10 1 1 100.0
Total 16737 96.6 100.0
Missing 589 3.4
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Total 17326  100.0

tabulate HEAR_4 R

HEAR_4_R: Difficulty hearing one person in noisier room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 11697 67.5 70.0 70.0
Some difficulty 4191 24.2 25.1 95.1
A lot of difficulty 779 4.5 4.7 99.7
Cannot do at all 48 3 3 100.0
Total 16715 96.5 100.0

Missing 611 3.6

Total 17326  100.0

Step 4. For Hearing questions, recode HEAR_3 R and HEAR_4 R to value 4 (cannot do at all) if
Hear_SS is 4 (Cannot do at all).

The syntax below recodes HEAR_3 R and HEAR_4 R to 4 (cannot do at all) if Hear_SS is 4 (cannot
do at all).

gen HEAR_3_X=HEAR_ 3 R
replace HEAR_3 X=4 if Hearing==4 & HEAR_3_R==.
gen HEAR_4_X=HEAR_4 R

replace HEAR_4 X=4 if Hearing==4 & HEAR_4 R==.
tabulate HEAR_3_X

HEAR_3_X: Difficulty hearing conversation with one person in quiet room

Perc
Frequency ent Valid Percent Cumulative Percent
Valid  No difficulty 15249 88.0 91.0 91.0
Some difficulty 1316 7.6 7.9 98.8
A lot of difficulty 162 9 1.0 99.8
Cannot do at all 33 2 2 100.0
Total 16760 96.7 100.0
Missing 566 3.3
Total 17326 100.
0
tabulate HEAR_4 X
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HEAR_4_X: Difficulty hearing one person in noisier room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 11697
Some difficulty 4191
A lot of difficulty 779
Cannot do at all 71
Total 16738
Missing 588
Total 17326

67.5 69.9 69.9
24.2 25.0 94.9
4.5 4.7 99.6
A4 A4 100.0
96.6 100.0
3.4
100.0

Step 5. Generate a cross-tabulation of the two Hearing Extended Set questions: HEAR_3 X and

HEAR 4 X.

The syntax below produces a cross-tabulation of the two Extended Set questions: HEAR_3_X: Difficulty
hearing in a quiet room and HEAR_4_X: Difficulty hearing in a noisier room to determine a single

HEARING INDICATOR.

tabulate HEAR 4 X HEAR_3_X

HEAR_3_X : Difficulty hearing conversation with one person

in quiet room
HEAR_4 X (Difficulty hearing Some A lot of Cannot do
in a Nosier room) No difficulty  difficulty  difficulty at all Total
No difficulty | 11603 94 0 0 11697
Some difficulty \ 3373 809 8 0 4190
A lot of difficulty \ 253 388 138 0 779
Cannotdoatall | 8 24 16 23 71
Total 15237 1315 162 23 16737

Step 6. Create a HEARING INDICATOR (H_INDICATOR) based on the two additional hearing

questions HEAR_3 X and HEAR 4 X.

The syntax below creates a HEARING INDICATOR (H_INDICATOR) based on the cross-tabulation of
the two additional hearing questions HEAR_3 X and HEAR_4 X.

gen H_INDICATOR=.

replace H_INDICATOR=1 if (HEAR_3_X==1 & HEAR_4_X==1)|///
(HEAR_3 X==1 & HEAR 4 X==2)

replace H_INDICATOR=2 if (HEAR_3 X==2 & (HEAR 4 X==1]///
HEAR_4 X==2)) | (HEAR_3_X==1 & HEAR_4_X==3)

replace H_INDICATOR=3 if (HEAR_3 X==3 & (HEAR 4 X==1]///
HEAR_ 4 X==2) | (HEAR 3 X==2 & HEAR 4 X==3) | ///
(HEAR 3 X==1 & HEAR_4 X==4))
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replace H_INDICATOR=4 if (HEAR_3_X==3 & HEAR_4 X==3) | ///
HEAR_3 X==4|(HEAR_4 X==4 & (HEAR_3 _X==2 | HEAR_3_X==3)))
tabulate H_INDICATOR

H_INDICATOR
Frequency Percent Valid Percent Cumulative Percent
Valid |1.00 14976  86.4 89.4 89.4
2.00 1156 6.7 6.9 96.3
3.00 404 2.3 2.4 98.7
4.00 211 1.2 1.3 100.0
Total 16747  96.7 100.0
Missing 579 3.3
Total 17326 100.0

COGNITION: Degree of difficulty remembering or concentrating

Step 7. Generate frequency distributions and cross-tabulations for Cognition domain questions and
determine a Cognition Indicator.

gen Cognition=COG_SS if inlist(COG_SS, 1,2,3,4)

replace Cognition=. if inlist(COG_SS, 7,8,9)
tabulate Cognition

Cognition: Degree of difficulty remembering or concentrating

Valid Cumulative
Frequency Percent Percent Percent

Valid No difficulty 13719 79.2 81.9 81.9
Some difficulty 2632 15.2 15.7 97.6
A lot of difficulty 382 2.2 2.3 99.9
Cannot do at all 20 A 1 100.0
Total 16753 96.7 100.0

Missing 573 3.3

Total 17326 100.0

If response to COG-SS is some difficulty, a lot of difficulty or cannot do at all, then the respondent is
asked COG_1: whether they have difficulty remembering, concentrating or both.

gen COG_1 R=COG_1 if inlist(COG_1, 1,2,3)
replace COG_1_R=. if inlist(COG_1, 7,8,9)
tabulate COG_1 R
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COG_1_R: Difficulty remembering, concentrating, or both?

Valid Cumulative
Frequency Percent Percent Percent
Valid  Difficulty remembering only 983 5.7 32.4 32.4
Difficulty concentrating only 388 2.2 12.8 45.2
Difficulty with both remembering and 1659 9.6 54.8 100.0
concentrating
Total 3030 17.5 100.0
Missing 14296 82.5
Total 17326  100.0

Step 8. Account for those who did not answer COG_1 (COG_SS is 1 — no difficulty and they were
skipped) by recoding COG_1 to 0 (No difficulty).

If response to COG-SS is 1: no difficulty, then the variable COG_1 R is recoded into COG_1A, and the
value assigned is 0: no difficulty.

gen COG_1A=COG_1 R
replace COG_1A=0 if COG_SS==1
tabulate COG_1A

COG_1A: Difficulty remembering, concentrating, or both? (including no difficulty)

Valid Cumulative
Frequency Percent  Percent Percent
Valid  No difficulty 13719  79.2 81.9 81.9
Difficulty remembering only 983 5.7 59 87.8
Difficulty concentrating only 388 2.2 2.3 90.1
Difficulty with both remembering and 1659 9.6 9.9 100.0
concentrating
Total 16749  96.7 100.0
Missing 577 3.3
Total 17326 100.0

Step 9. Generate frequency distribution for remaining cognition questions.

Frequency distribution of the Cognition extended REMEMBERING questions: COG_2 How often have
difficulty remembering, and COG_3 Amount of things you have difficulty remembering.

gen COG_2 R=COG 2 if inlist(COG_2, 1,2,3)
replace COG_2_R=. if inlist(COG_2, 7,8,9)
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gen COG_3_R=COG_3if inlist(COG_3, 1,2,3)
replace COG_3_R=. if inlist(COG_3, 7,8,9)
tabulate COG_2 R

COG_2_R: How often have difficulty remembering?
Frequency Percent Valid Percent Cumulative Percent

Valid Sometimes 1916 11.1 72.4 72.4
Often 513 3.0 19.4 91.8
All of the time 216 1.2 8.2 100.0
Total 2645 15.3 100.0

Missing 14681 84.7

Total 17326  100.0

tabulate COG_3 R

COG_3_R: Amount of things you have difficulty remembering?

Cumulative
Frequency Percent Valid Percent Percent

Valid A few things 2119 12.2 80.3 80.3
A lot of things 386 2.2 14.6 94.9
Almost everything 134 8 5.1 100.0
Total 2639 15.2 100.0

Missing 14687 84.8

Total 17326 100.0

Step 10. Generate cross-tabulation of the two Cognition extended set questions COG_2R by COG_3 R.

The syntax below produces a cross-tabulation of the two Extended Set REMEMBERING questions:
COG_2_R: How often you have difficulty remembering and COG_3_R: The amount of things you have

difficulty remembering to determine a single REMEMBERING INDICATOR.

tabulate COG_2 R COG_3 R

COG_3 R: Amount of things you have difficulty

remembering?

COG_2_R: How often do you have Almost

difficulty remembering? A few things A lot of things  everything Total

How often have difficulty |Sometimes 1788 105 20 1913

remembering? Often 279 197 34 510
All of the time 51 84 80 215

Total 2118 386 134 2638
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Step 11. Create a Remembering Indicator based on distribution of COG_2 R and COG_3 R.

The syntax below creates a REMEMBERING INDICATOR (R_INDICATOR) based on the two
additional remembering questions (COG_2 R and COG_3 R).
If Cognition is 1: no difficulty, then the Remembering Indicator is coded as 1: the lowest level of
difficulty.

gen R_INDICATOR=0

replace R_INDICATOR=1 if Cognition==1

replace R_INDICATOR=2 if (COG_2 R==1& COG_3 R==1)|//I

(COG_3_R==1& COG_2 R==2)|(COG_3 R==2 & COG_2_R==1))
replace R_INDICATOR=3 if (COG_3_R==2 & COG_2 R==2)
replace R_INDICATOR=4 if (COG_3 R==3|COG_2 R==3)

Step 12. If COG_1A is coded as 2 (concentrating only), then the Remembering Indicator is coded as 5.

These 388 individuals are respondents who were not included in the Remembering Indicator since they
had only difficulty concentrating.

replace R_INDICATOR=5 if (COG_1A==2)
Step 13. Generate frequency distribution of the Remembering Indicator.

tabulate R_INDICATOR

R_INDICATOR
Frequency Percent Valid Percent  Cumulative Percent

Valid .00 580 3.3 3.3 3.3

1.00 13719 79.2 79.2 82.5

2.00 2172 125 12.5 95.1

3.00 197 1.1 1.1 96.2

4.00 270 1.6 1.6 97.8

5.00 388 2.2 2.2 100.0

Total 17326 100.0 100.0

Step 14. Supplement Remembering Indicator with information on difficulty concentrating.

The syntax below adds information on whether cognitive difficulties are compounded by difficulty
concentrating in addition to difficulty remembering.

Create a COGNITION INDICATOR (COG_INDICATOR) based on R_INDICATOR (above) and the
cognition question (COG_1 R).

The 388 individuals with ‘concentrating only’ were allocated as follows:
1. 357 with a little difficulty on Cognition question were classified as 2
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2.
3.

30 with a lot of difficulty on Cognition question were classified as 3
1 with cannot do on Cognition question was classified as 4

Those with both remembering and concentrating difficulty were upgraded 36 individuals from 2 to 3,
and 125 individuals from 3 to 4.

gen COG_INDICATOR=R_INDICATOR

replace COG_INDICATOR=2 if (R_INDICATOR==5 & Cognition==2)
replace COG_INDICATOR=3 if (R_INDICATOR==5 & Cognition==3)
replace COG_INDICATOR=4 if (R_INDICATOR==5 & Cognition==4)

replace COG_INDICATOR=3 if (R_INDICATOR==2 & COG_1_R==3 & Cognition==3)
replace COG_INDICATOR=4 if (R_INDICATOR==3 & COG_1_R==3 & Cognition==3)

Step 15. Generate frequency distribution of the Cognition Indicator.

tabulate COG_INDICATOR

COG_INDICATOR

Frequency Percent Valid Percent ~ Cumulative Percent
Valid .00 580 3.3 3.3 3.3
1.00 13719 79.2 79.2 825
2.00 2449 14.1 14.1 96.7
3.00 226 1.3 1.3 98.0
4.00 352 2.0 2.0 100.0
Total 17326 100.0 100.0
UPPER BODY

Step 16. Generate frequency distributions and cross-tabulations for Self-care and Upper body domain
questions and determine the Upper Body Indicator.

SC_SS is the WG-SS Self-care question.
UB_1 is Difficulty raising 2 liter bottle of water from waist to eye level.
UB_2 is Difficulty using hands and fingers

gen SELF_CARE=SC_SS if inlist(SC_SS, 1,2,3,4)
replace SELF_CARE=. if inlist(SC_SS, 7,8,9)

gen UB_1 R=UB 1 ifinlist(UB_1, 1,2,3,4)
replace UB_1_R=. if inlist(UB_1, 7,8,9)

gen UB_2 R=UB 2 ifinlist(UB_2, 1,2,3,4)
replace UB_2_R=. if inlist(UB_2, 7,8,9)

First, calculate frequency distributions on the short set and two extended set questions.
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tabulate SELF_CARE

SELF_CARE: Degree of difficulty with self-care

Frequency Percent ~ Valid Percent Cumulative Percent
Valid No difficulty 16029 925 95.7 95.7
Some difficulty 544 3.1 3.2 98.9
A lot of difficulty 114 v v 99.6
Cannot do at all 68 A4 4 100.0
Total 16755 96.7 100.0
Missing 571 3.3
Total 17326 100.0

tabulate UB_1 R

UB_1_R: Diff raising 2 liter bottle of water from waist to eye level

Frequency Percent ~ Valid Percent Cumulative Percent
Valid No difficulty 15677 90.5 93.6 93.6
Some difficulty 743 4.3 4.4 98.0
A lot of difficulty 167 1.0 1.0 99.0
Cannot do at all 166 1.0 1.0 100.0
Total 16753 96.7 100.0
Missing 573 3.3
Total 17326 100.0

tabulate UB_2 R

UB_2 R: Degree of difficulty using hands and fingers

Frequency Percent ~ Valid Percent Cumulative Percent
Valid No difficulty 15199 87.7 90.7 90.7
Some difficulty 1229 7.1 7.3 98.1
A lot of difficulty 255 15 1.5 99.6
Cannot do at all 70 A4 A4 100.0
Total 16753 96.7 100.0
Missing 573 3.3
Total 17326 100.0

Step 17. Generate a cross-tabulation of the two Upper body Extended Set questions: UB_2 R and
UB_1 R.
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The syntax below produces a cross-tabulation of the two Extended Set questions: UB_1_R: Difficulty
raising a 2 liter bottle of water from waste to eye level UB_2_R: Difficulty using hands and fingers to
determine a single UPPER BODY INDICATOR (UB_INDICATOR).

tabulateUB_ 2 RUB_1 R

UB_1 R: Diff raising 2 liter bottle of water from

waist to eye level

Some A lot of Cannot
UB_2_R: Difficulty using hands and fingers No difficulty difficulty difficulty =~ doatall Total
Degree of difficulty No difficulty \ 14786 309 58 44 15197
using hands and Some difficulty ‘ 782 355 51 40 1228
fingers A lot of difficulty | 98 73 51 33 255
Cannot do at all \ 9 5 7 49 70
_Total 15675 742 167 166 16750

Step 18. Create an UPPER BODY INDICATOR (UB_INDICATOR) based on the two additional upper
body questions UB_2 R and UB_3 R.

Syntax below creates UB_INDICATOR based on the distribution in the cross-tabulation above.

gen UB_INDICATOR=4 if (UB_1_R==4 | UB_2_R==4)
replace UB_INDICATOR=3 if UB_INDICATOR ~=4 & (UB_1_R==3 | UB_2 R==3)
replace UB_INDICATOR=2 if UB_INDICATOR ~=4 & UB_INDICATOR~=3 & ///

(UB_1_R==2|UB_2_R==2)
replace UB_INDICATOR=1 if UB_INDICATOR~=4 & UB_INDICATOR~=3 & ///
UB_INDICATOR~=2 & (UB_1 R==1|UB_2 R==1)

tabulate UB_INDICATOR

UB_INDICATOR

Frequen Cumulative
cy  Percent Valid Percent Percent
Valid |1.00 14790 85.4 88.3 88.3
2.00 1448 8.4 8.6 96.9
3.00 331 1.9 2.0 98.9
4.00 187 1.1 1.1 100.0
Total 16756 96.7 100.0
Missing 570 3.3
Total 17326  100.0
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MOBILITY

Step 19. Generate frequency distributions and cross-tabulations for Mobility domain questions and

determine Mobility Indicator.

MOB_SS is the WG-SS Mobility question.

MOB_4 is Difficulty walking 100 yards on level ground without aid or equipment.
MOB_5 is Difficulty walking 1/3rd mile on level ground without aid or equipment.

gen Mobility=MOB_SS if inlist(MOB_SS, 1,2,3,4)

replace Mobility=. if inlist(MOB_SS, 7,8,9)

gen MOB_4_R=MOB_4 if inlist(MOB_4, 1,2,3,4)

replace MOB_4_R=. if inlist(MOB_4, 7,8,9)

gen MOB_5_R=MOB 5 if inlist(MOB_5, 1,2,3,4)

replace MOB_5_R=. if inlist(MOB_5, 7,8,9)

First, calculate frequency distributions on the short set and two extended set WALKING questions.

tabulate Mobility

Mobility: Degree of difficulty walking or climbing steps

Valid Cumulative
Frequency Percent Percent Percent

Valid No difficulty 13424 775 80.1 80.1
Some difficulty 2165 125 12.9 93.0
A lot of difficulty 792 4.6 4.7 97.7
Cannot do at all 380 2.2 2.3 100.0
Total 16761 96.7 100.0

Missing 565 3.3

Total 17326 100.0

tabulate MOB_4 R
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MOB_4 R: Diff walking 100 yards on level ground w/o aid or equipment

Cumulative
Frequency Percent ~ Valid Percent Percent

Valid No difficulty 13892 80.2 84.8 84.8
Some difficulty 1369 7.9 8.4 93.2
A lot of difficulty 491 2.8 3.0 96.2
Cannot do at all 623 3.6 3.8 100.0
Total 16375 945 100.0

Missing 951 55

Total 17326 100.0

tabulate MOB_5 R

MOB_5_R: Diff walking 1/3rd mile on level ground w/o aid or equipment

Cumulative
Frequency Percent ~ Valid Percent Percent

Valid No difficulty 13025 75.2 82.8 82.8
Some difficulty 1650 9.5 10.5 93.3
A lot of difficulty 708 4.1 4.5 97.8
Cannot do at all 347 2.0 2.2 100.0
Total 15730 90.8 100.0

Missing 1596 9.2

Total 17326 100.0

Step 20. Generate a cross-tabulation of the walking distance questions: MOB_4 R and MOB_5_R.

The syntax below produces a cross-tabulation of the two Extended Set WALKING questions:
MOB_4_R: Difficulty walking 100 yards without equipment and MOB_5_R: Difficulty walking 1/3 mile
without equipment to determine a single WALKING INDICATOR.

NOTE: 623 individuals who responded cannot do at all to MOB_4 R were not asked MOB_5 R and
they do not appear in the table below. They are, however, accounted for in the WALKING indicator
calculation.
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tabulate MOB_4 RMOB 5 R

MOB_4_R: Diff walking 100 MOB_5_R: Diff walking 1/3rd mile on level ground w/o aid
yards on level ground wio aid or " €auiPment

equipment Some A lot of Cannot do
No difficulty ~ difficulty difficulty at all Total
No difficulty | 12950 819 63 39 13871
Some difficulty | 72 810 343 142 1367
A lot of difficulty | 3 21 301 166 491
Cannot do at all (623) | 0 0 0 0 0
Total 13025 1650 707 347 15729

Step 21. Create a WALKING INDICATOR (WALK_INDICATOR) based on the two additional walking
questions MOB_4 R and MOB_5 R.

Syntax below creates WALKING_INDICATOR based on the distribution in the cross-tabulation above.

gen WALK_INDICATOR=0

replace WALK_INDICATOR=1 if (MOB_4 R==1& (MOB_5_R==1|MOB_5_R==2))

replace WALK_INDICATOR=2 if (MOB_4_R==1& MOB_5_R==3) | (MOB_4_R==2 & ///
(MOB_5 R==1|MOB_5_R==2|MOB_5_R==3))

replace WALK_INDICATOR=3 if (MOB_4 R==1& MOB_5 R==4) | (MOB_4_R==3 & ///
(MOB_5 R==1|MOB_5_R==2 | MOB_5_R==3))

replace WALK_INDICATOR=4 if (MOB_4 R==2 & MOB_5_R==4) | (MOB_4_R==3 & ///
MOB_5_R==4)

Syntax below includes the 623 who responded cannot do at all to MOB_4 R into the WALKING
INDICATOR.

replace WALK_INDICATOR=4 if (WALK_INDICATOR==0 & MOB_4_R==4)
replace WALK_INDICATOR=. if WALK_INDICATOR==0
tabulate WALK_INDICATOR
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WALK_INDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid 1.00 13769 79.5 84.2 84.2
2.00 1288 7.4 7.9 92.1
3.00 364 2.1 2.2 94.3
4.00 931 54 5.7 100.0
Total 16352 94.4 100.0

Missing 974 5.6

Total 17326 100.0

Step 22. Supplement Walking Indicator with information on difficulty Climbing steps (MOB_6).

Syntax below adds information from MOB_6 on difficulty climbing up or down 12 steps to create a
combined Mobility Indicator (MOB_INDICATOR).

gen MOB_6_R=MOB _6 if inlist(MOB_6, 1,2,3,4)

replace MOB_6_R=. if inlist(MOB_6, 7,8,9)
tabulate WALK_INDICATOR MOB_6_R

MOB_6_R: Difficulty climbing up or down 12 steps

Some A lot of Cannot do at
WALK_INDICATOR No difficulty  difficulty difficulty all Total
walk_INDICATOR2 1.00 13048 645 55 17 13765
2.00 370 767 135 16 1288
3.00 43 106 200 14 363
4.00 79 242 226 384 931
Total 13540 1760 616 431 16347

According to the table above, the syntax below reclassifies:

1. 55 individuals with level 1 on the WALKING INDICATOR as level 2 on the MOBILITY
INDICATOR

2. 17 individuals with level 1 on the WALKING INDICATOR and 135 individuals with level 2 on
the WALKING INDICATOR as level 3 on the MOBILITY INDICATOR, and

3. 16 individuals with level 2 on the WALKING INDICATOR as level 4 on the MOBILITY
INDICATOR.

Step 23. Create a mobility indication (MOB_INDICATOR) with information garnered from cross-
tabulation above.

gen MOB_INDICATOR= WALK_INDICATOR
replace MOB_INDICATOR=2 if (WALK_INDICATOR==1 & MOB_6_R==3)
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replace MOB_INDICATOR=3 if (WALK_INDICATOR==2 & MOB_6_R==3) | ///
(WALK_INDICATOR==1 & MOB_6_R==4)

replace MOB_INDICATOR=4 if (WALK_INDICATOR==2 & MOB_6_R==4)

tabulate MOB_INDICATOR

MOB_IDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid 1.00 13697 79.1 83.8 83.8
2.00 1192 6.9 7.3 91.1
3.00 516 3.0 3.2 94.2
4.00 947 55 5.8 100.0
Total 16352 94.4 100.0

Missing 974 5.6

Total 17326 100.0

ANXIETY

Step 24.Generate frequency distribution on ANX_1.
First, calculate frequency distributions on ANX_1: How often do you feel worried, nervous or anxious?
gen ANX_1 R=ANX_1 if inlist(ANX_1, 1,2,3,4,5)

replace ANX_1 R=. if inlist(ANX_1, 7,8,9)
tabulate ANX_1 R

ANX 1 R: How often feel worried, nervous, or anxious?
Frequency Percent Valid Percent Cumulative Percent

Valid Daily 1632 9.4 9.8 9.8
Weekly 1872  10.8 11.2 21.0
Monthly 1558 9.0 9.3 30.4
A few times a year 4898  28.3 29.4 59.7
Never 6714 38.8 40.3 100.0
Total 16674  96.2 100.0

Missing 652 3.8

Total 17326  100.0

Step 25. The syntax below recodes ANX_3R into ANX_3Y
1) to create a NOT ASKED category based on those who responded NEVER to ANX_1 R and
2) to place “SOMEWHERE BETWEEN " numerically in-between “A LITTLE” and “A LOT”.

gen ANX_3Y=1 if ANX_3R==1
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replace ANX_3Y=3 if ANX_3R==2

replace ANX_3Y=2 if ANX_3R==3

replace ANX_3Y=. if inlist(ANX_3R, 7, 8, 9)
Recode ANX_3Y to 0 (not asked) if ANX_1is 5 (Never)

replace ANX_3Y=0 if ANX_1==5
tabulate ANX_3Y

ANX_3Y: Level of feelings last time felt worried/nervous/anxious

Valid Cumulative
Frequency Percent  Percent Percent

Valid Not asked 6714 38.8 40.3 40.3
A little 5700 32.9 34.2 745
In between a little and a lot 3076 17.8 18.5 92.9
A lot 1176 6.8 7.1 100.0
Total 16666 96.2 100.0

Missing 660 3.8

Total 17326  100.0

Step 26. Generate a cross-tabulation of the anxiety Extended Set questions: ANX_1 R and ANX_3Y.

The syntax below produces a cross-tabulation of ANX_1 R: How often you felt worried, nervous or
anxious (a measure of frequency) and ANX_3Y: The level of those feeling the last time you felt worried,
nervous or anxious (a measure of intensity) — used to determine a single ANXIETY INDICATOR
(ANX_INDICATOR).

tabulate ANX_3Y ANX_1 R

ANX 1 R: How often feel worried, nervous or anxious?
ANX_3Y: Level 0T Teelings I1ast ume

felt worried, nervous or anxious : A Few Times

' Daily  Weekly Monthly A Year Never = Total
Not asked |0 0 0 0 6714 6714
A little | 489 887 897 3417 0 5690
In between a little and a lot | 589 725 535 1221 0 3070
A lot | 548 256 123 248 0 1175
Total 1626 1868 1555 4886 6714 16649

Step 27. Create an ANXIETY INDICATOR (ANX_INDICATOR) based on the two anxiety questions
ANX_1 R and ANX_3Y.

Syntax below creates ANX_INDICATOR based on the distribution in the cross-tabulation above.
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gen ANX_INDICATOR=1 if (ANX_3Y <=4 & (ANX_1 R==4| ANX_1 R==5))

replace ANX_INDICATOR=2 if ((ANX_1 R==3) | (ANX_1 R<3 & ANX_3Y==1) |//I
(ANX_1 R==2 & ANX_3Y==2))

replace ANX_INDICATOR=3 if (ANX_1 R==1& ANX _3Y==2)|///
(ANX_1 R==2 & ANX _3Y==3))

replace ANX_INDICATOR=4 if (ANX_1_R==1 & ANX_3Y==3)

replace ANX_INDICATOR=. if (missing(ANX_1_R) | missing(ANX_3Y))

tabulate ANX_INDICATOR

ANX_INDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid 1.00 11600 67.0 69.7 69.7
2.00 3656 21.1 22.0 91.6
3.00 845 4.9 5.1 96.7
4.00 548 3.2 3.3 100.0
Total 16649 96.1 100.0

Missing 677 3.9

Total 17326 100.0

DEPRESSION

Step 28.Generate frequency distribution on DEP_1.
First, calculate frequency distributions on DEP_1: How often do you feel depressed?

gen DEP_1_R=DEP_1 if inlist(DEP_1, 1,2,3,4,5)
replace DEP_1 R=. if inlist(DEP_1, 7,8,9)
tabulate DEP_1 R

DEP_1 R: How often do you feel depressed?
Frequency Percent Valid Percent Cumulative Percent

Valid Daily 756 4.4 4.5 4.5
Weekly 926 53 5.6 10.1
Monthly 1038 6.0 6.2 16.3
A few times a year 4012 23.2 24.1 40.4
Never 9929 573 59.6 100.0
Total 16661  96.2 100.0

Missing 665 3.8

Total 17326  100.0
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Step 29. The syntax below recodes DEP 3R into DEP _3Y to place “SOMEWHERE BETWEEN”
numerically in-between “A LITTLE” and “A LOT”. It also creates the category NOT ASKED, if DEP 1
is NEVER (1)

gen DEP_3Y=1 if DEP_3R==1

replace DEP_3Y=3 if DEP_3R==2

replace DEP_3Y=2 if DEP_3R==3

replace DEP_3Y=. if inlist(DEP_3R, 7,8,9)

replace DEP_3Y=0 if DEP_1==5
tabulate DEP_3Y

DEP_3Y: Level of feelings last time felt depressed
Frequency Percent Valid Percent Cumulative Percent

Valid  Not asked 9929 57.3 59.6 59.6
A little 3775 21.8 22.7 82.3
In between a little and a lot 2016 11.6 12.1 94.4
A lot 935 5.4 5.6 100.0
Total 16655 96.1 100.0

Missing 671 3.9

Total 17326  100.0

Step 30. Generate a cross-tabulation of the depression Extended Set questions: DEP_1 R and DEP_3Y.
The syntax below produces a cross-tabulation of DEP_1_R: How often do you feel depressed (a measure
of frequency) and DEP_3Y: The level of those feeling the last time you felt depressed (a measure of
intensity) — used to determine a single DEPRESSION INDICATOR (DEP_INDICATOR).

tabulate DEP_3Y DEP_1 R

DEP_1 R: How often do you feel depressed?

DEP_3Y: Level of feelings last time A Few Times

felt depressed Daily  Weekly Monthly A Year Never Total
Not asked | 0 0 0 0 9929 9929
A little | 161 346 548 2708 0 3763
In between a little and a lot | 209 384 378 1042 0 2013
A lot | 381 191 112 248 0 932
Total 751 921 1038 3998 9929 16637

Step 31. Create a DEPRESSION INDICATOR (DEP_INDICATOR) based on the two depression
questions DEP_1 R and DEP_3Y.

Syntax below creates DEP_INDICATOR based on the distribution in the cross-tabulation above.
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gen DEP_INDICATOR-=. if (missing(DEP_1_R) | missing(DEP_3Y))

replace DEP_INDICATOR=1 if (DEP_3Y <=4 & (DEP_1 R==4|DEP_1 R==5))

replace DEP_INDICATOR=2 if (DEP_1_R==3) | (DEP_1_R <3 & DEP_3Y==1) | ///
(DEP_1==2 & DEP_3Y==2))

replace DEP_INDICATOR=3 if (DEP_1_R==1 & DEP_3Y==2) | ///
(DEP_1 R==2 & DEP_3Y==3))

replace DEP_INDICATOR=4 if (DEP_1_R==1 & DEP_3Y==3)

tabulate DEP_INDICATOR

DEP_INDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid 1.00 13927 80.4 83.7 83.7
2.00 1929 111 11.6 95.3
3.00 400 2.3 2.4 97.7
4.00 381 2.2 2.3 100.0
Total 16637 96.0 100.0

Missing 689 4.0

Total 17326 100.0

PAIN

Step 32.Generate frequency distribution on PAIN_2.
First, calculate frequency distributions on PAIN_2: Frequency of pain in the past 3 months.

gen PAIN_2_R=PAIN_2 if inlist(PAIN_2, 1,2,3,4)

replace PAIN_2 R=.if inlist(PAIN_2, 7,8,9)
tabulate PAIN_2 R

PAIN_2 R: Frequency of pain in past 3 months

Valid Cumulative
Frequency Percent Percent Percent

Valid  Never 6636 38.3 39.8 39.8

Some days 6556 37.8 39.3 79.2

Most days 1227 7.1 7.4 86.5

Every day 2245 13.0 13.5 100.0

Total 16664 96.2 100.0
Missing 662 3.8
Total 17326 100.0
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Step 33. The syntax below recodes PAIN 4 into PAIN 4Y to place “SOMEWHERE BETWEEN”
numerically in-between “A LITTLE” and “A LOT”. It also creates the category NOT ASKED, if

PAIN_2 is NEVER (1).

gen PAIN_4Y=1 if PAIN 4==1

replace PAIN_4Y=3 if PAIN_4==2

replace PAIN_4Y=2 if PAIN_4==3

replace PAIN_4Y=. if inlist(PAIN_4, 7,8,9)

replace PAIN_4Y=0 if PAIN_2==1

tabulate PAIN_4Y

PAIN_4Y: How much pain you had last time you had pain?

Frequency Percent Valid Percent Cumulative Percent

Valid  Not asked 6636 38.3 39.8 39.8
A little 4865 28.1 29.2 69.0
In between a little and a lot 3296 19.0 19.8 88.8
A lot 1869 10.8 11.2 100.0
Total 16666 96.2 100.0

Missing 660 3.8

Total 17326  100.0

Step 34. Generate a cross-tabulation of the PAIN Extended Set questions: PAIN_2 R and PAIN_4Y.

The syntax below produces a cross-tabulation of PAIN_2_R: Frequency of pain in the past 3 months and

PAIN_4Y: How much pain you has the last time you had pain (a measure of intensity) — used to

determine a single PAIN INDICATOR (P_INDICATOR).

tabulate PAIN_4Y PAIN_2_R

PAIN_2_ R: Frequency of pain in past 3 months

PAIN_4Y: How much pain you Some Most Every

had last time you had pain Never Days days day Total
Not asked 6636 0 0 0 6636
A little 0 4136 323 401 4860
In between a little and a lot 0 1772 624 896 3296
A lot 0 645 278 944 1867

Total 6636 6553 1225 2241 16655

Step 35. Create a PAIN INDICATOR (P_INDICATOR) based on the two PAIN questions PAIN_2_R and

PAIN_4Y.

Syntax below creates P_INDICATOR based on the distribution in the cross-tabulation above.
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gen P_INDICATOR=L1 if (PAIN_2_R==1) | (PAIN_4Y==1 & ///
(PAIN_2 R==2|PAIN_2 R==3))
replace P_INDICATOR=2 if (PAIN_2_R==2 & (PAIN_4Y==2 | PAIN_4Y==3)) | ///
(PAIN_2 _R==3 & PAIN_4Y==2) | (PAIN_2_R==4 & PAIN_4Y==1))
replace P_INDICATOR=3 if (PAIN_2_R==3 & PAIN_4Y==3) | /l|
(PAIN_2_R==4 & PAIN_4Y==2)
replace P_INDICATOR=4 if (PAIN_2_R==4 & PAIN_4Y==3)
tabulate P_INDICATOR

P_INDICATOR
Frequency Percent Valid Percent Cumulative Percent
Valid 1.00 11095 64.0 66.6 66.6
2.00 3442 19.9 20.7 87.3
3.00 1174 6.8 7.0 94.3
4.00 944 54 5.7 100.0
Total 16655 96.1 100.0
Missing 671 3.9
Total 17326  100.0

FATIGUE (Tired)

Step 36.Generate frequency distribution on FATIGUE Extended Set questions Tired_1, Tired_2 and
Tired_3.
First, calculate frequency distributions on TIRED_1: How often you felt tired in the past 3 months.

gen TIRED_1_R=TIRED 1 if inlist(TIRED_1, 1,2,3,4)

replace TIRED_1_R=. if inlist(TIRED_1, 7,8,9)
tabulate TIRED 1 R

TIRED_1_R: How often felt very tired or exhausted in past 3 months

Frequen Valid Cumulative
cy Percent Percent Percent

Valid Never 5619 324 33.7 33.7
Some days 8391 48.4 50.4 84.1
Most days 1632 9.4 9.8 93.9
Every day 1019 59 6.1 100.0
Total 16661 96.2 100.0

Missing 665 3.8

Total 17326 100.0

Step 37. Recode Tired_2 to 0 (not asked) if Tired_1 is 1 (Never).
If response to TIRED 1 is 1: Never, then TIRED_2 (How long most recent tired or exhausted feelings
lasted) is not asked. This variable is recoded so these individuals are included in the syntax below.
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gen TIRED 2 R=.

replace TIRED_2_R=TIRED_2 if inlist(TIRED_2, 1,2,3)
replace TIRED_2 R=. if inlist(TIRED_2, 7,8,9)

replace TTIRED_2 R=0if TIRED 1==1

tabulate TIRED_2_R

TIRED_2_R: How long most recent tired or exhausted feelings lasted?

Valid Cumulative
Frequency  Percent Percent Percent

Valid  Not asked 5619 324 33.8 33.8
Some of the day 8036 46.4 48.3 82.0
Most of the day 1955 11.3 11.7 93.8
All of the day 1036 6.0 6.2 100.0
Total 16646 96.1 100.0

Missing 680 3.9

Total 17326 100.0

Step 38. The syntax below recodes TIRED 3 into TIRED 3Y to place “SOMEWHERE BETWEEN"
numerically in-between “A LITTLE” and “A LOT”".

Also, if response to TIRED_1 is 1: Never, then TIRED_3 (Level of tiredness) is not asked. This variable
is recoded so these individuals are included in the syntax below.

gen TIRED_3Y=1if TIRED_3==1

replace TIRED_3Y=3 if TIRED_3==2

replace TIRED_3Y=2 if TIRED 3==

replace TIRED_3Y=. if inlist(TIRED_3, 7, 8, 9)
replace TIRED_3Y=0if TIRED 1==1

tabulate TIRED_3Y

TIRED_3Y: Level of tiredness

Valid Cumulative
Frequency Percent Percent Percent

Valid  Not asked 5619 324 33.8 33.8
A little 4912 28.4 29.5 63.3
In between a little and a lot 4030 23.3 24.2 87.5
A lot 2087 12.0 12.5 100.0
Total 16648 96.1 100.0

Missing 678 3.9

Total 17326 100.0
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Step 39. Generate a cross-tabulation of the FATIGUE Extended Set questions: TIRED_1 R,
TIRED_2 R and TIRED_3Y.

The syntax below produces a cross-tabulation of TIRED 1 R: How often you felt tired or exhausted in
the past 3 months (a measure of frequency) and TIRED_2_R: How long those feelings lasted (a measure
of duration) and TIRED_3Y: The level of tiredness (a measure of intensity) — used to determine a single
TIRED INDICATOR (T_INDICATOR).

table TIRED_2 RTIRED 1 R, by(TIRED_3Y ) contents(freq)

TIRED_1: How often felt very tired or
TIRED_3Y: Level TIRED_2: Howlong  exhausted in past 3 months: Frequency
of tiredness: feelings lasted: Some Most
Intensity Duration Never days days Every day | Total
Not asked Not asked 5619 5619
A little Some of the day 4066 264 124 4454
Most of the day 252 73 27 352
All of the day 68 15 18 101
In between Some of the day 2224 400 166 2791
Most of the day 497 266 123 887
All of the day 194 71 84 349
A lot Some of the day 536 165 84 785
Most of the day 297 255 160 713
All of the day 237 118 230 585
TOTAL 5619 8371 1627 1016 16633

Step 40. Create a FATIGUE INDICATOR (T_INDICATOR) based on the three FATIGUE questions
TIRED_1 R, TIRED_2 R and TIRED_3Y.

Syntax below creates T_INDICATOR based on the distribution in the cross-tabulation above.

gen T_INDICATOR =.

replace T_INDICATOR=1 if (TIRED_1_R==1)

replace T_INDICATOR=1 if (TIRED_1_R==2 & TIRED_2_R==1 & TIRED_3Y==1)
replace T_INDICATOR=1 if (TIRED_1_R==3 & TTIRED 2 R==1 & TIRED 3Y==1)

replace T_INDICATOR=2 if (inlist(TIRED_1_R, 2,3,4) & inlist(TIRED_2_R, 2,3) & ///
TIRED_3Y==1)

replace T_INDICATOR=2 if (inlist(TIRED_1_R ,2,3,4) & TIRED 2 R==1 & TIRED 3Y==2)

replace T_INDICATOR=2 if (TIRED_1_R==2 & TIRED_2_R==2 & TIRED_3Y==2)

replace T_INDICATOR=2 if (TIRED_1_R==4 & TIRED 2 R==1 & TIRED_3Y==1)
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replace T_INDICATOR=3 if (inlist(TIRED_1_R, 3,4) & TIRED 2 R==2 & TIRED_3Y==2)
replace T_INDICATOR=3 if (inlist(TIRED_1_R, 2,3,4) & TIRED_2_R==3 & TIRED_3Y==2)
replace T_INDICATOR=3 if (inlist(TIRED_1_R, 2,3,4) & TIRED_2_R==1 & TIRED_3Y==3)
replace T_INDICATOR=3 if (inlist(TIRED_1_R, 2,3) & TIRED 2 R==2 & TIRED_3Y==3)
replace T_INDICATOR=3 if (TIRED_1_R==2 & TIRED_2_R==3 & TIRED_3Y==3)

replace T_INDICATOR=4 if (TIRED_1_R==4 & TIRED 2 R==2 & TIRED_3Y==3)
replace T_INDICATOR=4 if (inlist(TIRED_1_R, 3,4) & TIRED 2 R==3 & TIRED 3Y==3)
tabulate T_INDICATOR

T_Indicator
Valid Cumulative
Frequency Percent Percent Percent
Valid  1.00 9949 57.4 59.8 59.8
2.00 3864 22.3 23.2 83.0
3.00 2312 13.3 13.9 96.9
4.00 508 2.9 3.1 100.0
Total 16633 96.0 100.0
Missing 693 4.0
Total 17326 100.0
Creating Disability Status Indicators
Type of Disability Indicator Number of Questions
SS 1 Short Set (SS) 6

Extended Set

SS + Hearing-indicator, Mobility-indicator, Cognition-indicator,

=51 Upper Body-indicator + PFAD (4)* 25
ES 2 SS + Hearing-indicator, Mobility-indicator, Cognition-indicator, 20
=~ Upper Body-indicator + AD (4)"
Short Set Enhanced
ES 3 SS + Upper Body-indicator + AD (4)° 12
* PFAD (4): Pain, Fatigue, Anxiety and Depression Indicators at level 4
1 AD (4): Anxiety and Depression Indicators at level 4
Crp. | 30 Jiis mony4eHus AONOTHUTENBHOM nH(popManuu o BalmmmHI TOHCKO# Tpyrine

M0 CTaTUCTUKE UHBAJIMIHOCTU MEPEUINTE HA CAUT:
http://www.washingtongroup-disability.com/.


http://www.washingtongroup-disability.com/

SS_1: WG Short Set Disability Indicator based on the 6 short set questions

The syntax below calculates the WG Short Set Disability Indicator based on the six short set questions
SS_1 at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT
OF DIFFICULTY or CANNOT DO AT ALL.

gen SS_1=2

replace SS_1=. if (missing(Vision) & missing(Hearing) & missing(Mobility) & ///
missing(Communication) & missing(SELF_CARE) & missing(Cognition))

replace SS_1=1if ((Vision==3 | Vision==4) | (Hearing==3 | Hearing==4) | ///
(Mobility==3 | Mobility==4) | (Communication==3 | Communication==4) | ///
(SELF_CARE==3 | SELF_CARE==4) | (Cognition==3 | Cognition==4))

tabulate SS_1

SS 1: WG Short Set Disability Identifier
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 14905 86.0 88.8 90.5
WITH DISABILITY 1872 10.8 11.2 9.5
Total 16777 96.8 100.0
Missing 549 3.2
Total 17326 100.0

ES_1:8S_1 + Hearing-indicator, Mobility-indicator, Cognition-indicator + Upper Body-indicator
+ PFAD (4)

The syntax below calculates an Extended Set Disability Indicator (ES_1) based on 25 questions at the
recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF
DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4 for the
Hearing-, Mobility-, Cognition- and Upper body-Indicators; and severity level 4 for Pain-, Fatigue-,
Anxiety- and Depression-Indicators.

gen ES_1=2
replace ES_1=. if ///
(missing(SS_1) & ///
(H_INDICATOR <1 |H_INDICATOR > 4) & /Il
(MOB_INDICATOR <1 | MOB_INDICATOR > 4) & /l/
missing(COM_SS) & ///
missing(SC_SS) & ///
(COG_INDICATOR <1 | COG_INDICATOR > 4) & /II
(UB_INDICATOR <1|UB_INDICATOR > 4) & ///
missing(P_INDICATOR) & ///
(T_INDICATOR <1 |T_INDICATOR > 4) & ///
(ANX_INDICATOR < 1| ANX_INDICATOR > 4) & ///
(DEP_INDICATOR < 1 |DEP_INDICATOR > 4))
replace ES_1=11f (SS_1==1|///
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(H_INDICATOR==3 | H_INDICATOR==4) | //]

(MOB_INDICATOR==3 | MOB_INDICATOR==4) | ///

(COG_INDICATOR==3 | COG_INDICATOR==4) | ///

(UB_INDICATOR==3 | UB_INDICATOR==4) | ///

P_INDICATOR==4 | T_INDICATOR==4|///

ANX_INDICATOR==4 | DEP_INDICATOR==4)
tabulate ES 1

ES 1: WG-ES Disability Indicator based on 11 domains and 25 questions
Valid Weighted
Frequency Percent Percent Estimate

Valid WITHOUT DISABILITY 13823 79.8 79.8 82.3
WITH DISABILITY 3503 20.2 20.2 17.7
Total 17326 100.0 100.0

ES_2: SS_1 + Hearing-indicator, Mobility-indicator, Cognition-indicator + Upper Body-indijcator
+ AD (4)

The syntax below calculates an Extended Set Disability Indicator (ES_2) based on 20 questions at the
recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF
DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4 for the
Hearing-, Mobility-, Cognition- and Upper body-Indicators; and severity level 4 for Anxiety- and
Depression-Indicators.

gen ES_2=2

replace ES_2=. if (missing(SS_1) & ///
(H_INDICATOR < 1 |H_INDICATOR > 4) & ///
(MOB_INDICATOR <1 | MOB_INDICATOR > 4) & ///
missing(COM _SS) & missing(SC_SS) & ///
(COG_INDICATOR < 1| COG_INDICATOR > 4) & ///
(UB_INDICATOR <1|UB_INDICATOR >4) & ///
(ANX_INDICATOR < 1| ANX_INDICATOR > 4) & ///
(DEP_INDICATOR < 1 | DEP_INDICATOR > 4))

replace ES_2=1if (SS_1==1 | (H_INDICATOR==3 | H_INDICATOR==4) | ///
(MOB_INDICATOR==3 | MOB_INDICATOR==4) | ///
(COG_INDICATOR==3 | COG_INDICATOR==4) | ///
(UB_INDICATOR==3 | UB_INDICATOR==4) | ///
ANX_INDICATOR==4 | DEP_INDICATOR==4)

tabulate ES 2
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ES 2: WG-ES Disability Indicator based on 9 domains and 20 questions
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 14222 82.1 82.1 84.6
WITH DISABILITY 3104 17.9 17.9 154
Total 17326 100.0 100.0

ES_3:SS_1 + Upper Body-indicator + AD (4)

The syntax below calculates the WG Short Set ENHANCED Disability Indicator (ES 3) based on the
12 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded
A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4
for the Upper body-Indicators; and severity level 4 for Anxiety- and Depression-Indicators.

gen ES_3=2

replace es_3=. if (missing(Vision) & ///
missing(Vearing) & ///
missing(Mobility) & ///
missing(Communication) & ///
missing(SELF_CARE) & ///
missing(Cognition) & ///
missing(UB_INDICATOR) & ///
missing(ANX_INDICATOR) & ///
missing(DEP_INDICATOR) )

replace es_3=1if ((Vision==3 | Vision==4) | ///
(Hearing==3 | Hearing==4) | ///
(Mobility==3 | Mobility==4) | ///
(Communication==3 | Communication==4) | ///
(SELF_CARE==3 | SELF_CARE==4) |/l
(Cognition==3 | Cognition==4) | ///
(UB_INDICATOR==3 | UB_INDICATOR==4) | ///
ANX_INDICATOR==4 | DEP_INDICATOR==4)

tabulate ES_3

ES 3: WG-SS Enhanced Disability Indicator based on 9 domains and 12 questions
Valid Weighted
Frequency Percent Percent Estimate

Valid WITHOUT DISABILITY 14393 83.1 85.8 87.7
WITH DISABILITY 2384 13.8 14.2 12.3
Total 16777 96.9 100.0

Missing 549 3.2

Total 17326 100.1
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IHHOCTKPHUIITYM: [louemy nckroueHnsl fomMenbl boab 1 Yeranocrs?

Crnenyet OTMETUTD UCKITIOUEHHE TOMeHOB boiu u YcTanoctu u3 HeCKOIbKUX UICHTH(PUKATOPOB
MHBAJIMAHOCTH, yKa3aHHbIX Bbile. B BI' cocTosnace ceppesHas quckyccus 1o 3tuM gomeHam. CTporo
rOBOPSI, OHU HE SBJISAIOTCA JOMEHaMU (QYHKIIMOHUPOBAHUS, U HaIll aHaJIN3 MI0Ka3aJl, YTO OHU 00a CHIIBHO
KOPPEJIUPYIOT C IPYTUMH IOMEHAMH, U YTO [TOKA3aTEIN UHBAIUAHOCTHU IIPU BKIIFOUEHHUH 3TUX JIOMEHOB
B OIIPOCHHUK MOTYT CTaTh OYEHb BBICOKUMH.

Hakomner, ¢ Touky 3peHust MeKIyHapOIHOM COIOCTaBUMOCTH, 3TU JOMEHbBI MEHEE YHUBEPCAIIbHBI; TO
€CTb OHU 00Jiee BOCIPUHUMYHMBBI K MECTHOMY COLIMOKYJIBTYPHOMY BIIMSIHUIO, YeM Ipyrue chepbl
NESITEILHOCTH.

Ilo >Tum IMpUYrMHaM MBI PCIININ UCKIIIOYNTE UX U3 HCCKOJIBKHUX TaKHMX aHaJIM30B, XOTA UX MOXKHO
BKIIFOYAaTh B JOIMMOJHUTCIBHBIC OIIPOCHI, ITIPOBOAUMBIC HCVY B KOHerTHOI\/’I CTpaHe.

Crp. |34 Jlng momydeHus IOMOJHUTENbHOW HHPOPMALUU 0 BammHrToHcKoi rpymme
M0 CTaTUCTUKE WHBAJIWIHOCTU MEPEUINTE HA CAUT:
http://www.washingtongroup-disability.com/.


http://www.washingtongroup-disability.com/
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